### STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION HIGHWAY DIVISION 6

## **PROPOSAL**

DATE AND TIME OF BID OPENING:	JULY 27, 2017 AT 2:00 PM
WBS ELEMENT NO.:	FHWA # 15006.1024080
COUNTY:	COLUMBUS
ROUTE NO.:	NC HIGHWAY 242 CULVERT # 391
LOCATION:	0.2 MILES NORTH OF JUNCTION US 74
CONTRACT AVAILABILITY:	DATE OF PURCHASE ORDER ISSUE
CONTRACT COMPLETION:	NOVEMBER 3, 2017
LIQUIDATED DAMAGES:	\$ 500.00 PER CALENDAR DAY
TYPE OF WORK:	BOX CULVERT REPAIR

#### NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BONDS ARE NOT REQUIRED.

The Tara Group of Lumberton, INC

NAME OF BIDDER

2700 NC Hwy 72 W. Lumberton, NC 28360

ADDRESS OF BIDDER

## EXECUTION OF BID NON-COLLUSION AFFIDAVIT, DEBARMENT CERTIFICATION AND GIFT BAN CERTIFICATION

### **CORPORATION**

The person executing the bid, on behalf of the Bidder, being duly sworn, solemnly swears (or affirms) that neither he, nor any official, agent or employee of the bidder has entered into any agreement, participated in any collusion, or otherwise taken any action which is in restraint of free competitive bidding in connection with any bid or contract, that the bidder has not been convicted of violating N.C.G.S. § 133-24 within the last three years, and that the Bidder intends to do the work with its own bonafide employees or subcontractors and is not bidding for the benefit of another contractor.

In addition, execution of this bid in the proper manner also constitutes the Bidder's certification of status under penalty of perjury under the laws of the United States in accordance with the Debarment Certification attached, provided that the Debarment Certification also includes any required statements concerning exceptions that are applicable.

N.C.G.S. § 133-32 and Executive Order 24 prohibit the offer to, or acceptance by, any State Employee of any gift from anyone with a contract with the State, or from any person seeking to do business with the State. By execution of any response in this procurement, you attest, for your entire organization and its employees or agents, that you are not aware that any such gift has been offered, accepted, or promised by any employees of your organization.

SIGNATURE OF	CONTRACTOR
The TARA Group of L	umberton, INC
Full name of Cor	poration
2700 NC Hwy 72 W. L	umberton, NC 28360
Attest  Secretary/Assistant Secretary  Select appropriate title  Address as Prequency  By	President/Vice President Vice President
Tim Arnette Print or type Signer's name	Select appropriate title  Charles D. Andrews  Print or type Signer's name
A FILLID A NAME DAVICE	CORPORATE SEAL
AFFIDAVIT MUST	BE NOTARIZED
Subscribed and sworn to before me this the  18 day of July 2017.	NOTARY SEAL
Signature of Notary Public	
of Bladen County	SOPHIA H. EDWARDS Notary Public, North Carolina Bladen County My Commission Expires 5-12-2018
State of NC My Commission Exprises 5/12/2019	
My Commission Expires: 5/12/2018	

Work Order Number:	15006.1024080
Route:	NC 242 0.2 MILES NORTH OF JUNCTION US 74
County:	Columbus
Contract Availability:	Date Of Purchase Order Issue:
Contract Completion:	NOVEMBER 3, 2017
Liquidated Damages:	\$ 500.00 Per Calendar Day

LINE #	ITEM NUMBER	SEC #	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1		800	Mobilization	1	LS	25,000.00	25,000.00
2		SP	PZ-27 Sheeting, Galvanized, 30 foot length	3000	SF	36.00	108,000.00
3	<u> </u>	SP	PZ -27 Sheeting, Galvanized, 10 foot length, for Culvert Scour	520	SF	39.00	20,280.00
4		SP	Concrete Coping 18" x 18" on top of PZ-27	120	LF	185.00	22,200.00
5		1610	#57 Sediment Stone	100	TON	42.00	4,200.00
6		1000-6	Flowable Fill, for Culvert Scour	12	CY	175.00	2100.00
7		1000-3	Non-Shrink Grout, for Culvert Scour	2	CY	175.00	350.00
8		SP	De-Watering Culvert Site for Scour Repair	1	LS	100,000.00	100,000.00
9		SP	42 Inch Vertical Concrete Barrier Wall with reinforcing steel	60	LF	190.00	11,400.00
10		SP	Culvert Head & Wing Wall Extension (to raise existing head wall for new 42" Barrier Wall)	6	CY	1600.00	9,600.00
11		846	Shoulder Berm Gutter (6 inches extra thick for traffic bearing)	120	LF	48.00	5760.00
12		840	Frame with 2 Grates, STD 840.29 (narrow slot)	4	EA	500.00	2,000.00
13		840	Masonry Drainage Structures	4	EA	1,400.00	5,600.00
14		300	Foundation Conditioning Material, Minor Structures	20	TON	42.00	840.00
15		310	15" HPDE Slope Drain Pipe (Double Wall)	80	LF	30.00	2400.00
16		310	15" HPDE Pipe (Double Wall) Elbows 22.5 degree	8	EA	100.00	800.00
17		310	15" HPDE Pipe (Double Wall) Elbows 90 degree	22	EA	100.00	2,200.00
18		1042	Rip Rap, Class B	50	TON	54.00	2,700.00
19		1660	Sodding	80	SY	10.00	800.00

Work Order Number:	15006.1024080	
Route:	NC 242 0.2 MILES NORTH OF JUNCTION US 74	
County:	COLUMBUS	
Contract Availability:	Date Of Purchase Order Issue	
Contract Completion:	NOVEMBER 3, 2017	
Liquidated Damages:	\$ 500.00 Per Calendar Day	

LINE #	ITEM NUMBER	SEC #	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
20		1662	Water for Sod	10	MG	1.00	10.00
21		SP	Coir Fiber Wattle	100	LF	6.00	600.00
22		1605	Temporary Silt Fence	200	LF	2.00	400.00
23		545	Incidental Stone Base	100	TON	35.00	3,500.00
24		1632	1/4 Inch Hardware Cloth	50	LF	2.00	100.00
25		SP	Asphalt Patching	50	TON	100.00	5,000.00
26		862	Guardrail Anchor Units, Type III	4	EA	1800.00	7200.00
27		863	Remove Existing Guardrail	400	LF	.10	40.00
28		862	Steel Beam Guardrail	120	LF	18.00	2160.00
29		862	Additional Guardrail Posts	5	EA	13.00	65.00
30		862	Guardrail Anchor Units, Type TL-3	3	EA	3.00	9.00
31		SP	Traffic Control	1	LS	30,000.00	30,000.00
32		1250	Traffic Control Pavement Marking Tape	1000	LF	3.00	3,000.00
33		SP	Sawcutting & Removal of Asphalt and concrete & material for Barrier Wall Construction	1	LS	5,000.00	5,000.00
34		SP	Remove and Replace portion of Concrete Island (If needed)	1	LS	2,500.00	2,500.00
35			8" Gate Valve for Existing Water Line (IF NEEDED)	1	EA	3,200.00	3,200.00
36			8" Directional Bore Water Line (HPDE or Fusible Water Line) (IF NEEDED)	200	LF	62.00	12,400.00
37			45 Degree Elbows, 8" (IF NEEDED)	4	EA	350.00	1,400.00
38			8" RJ Ductile Iron Water Line (IF NEEDED)	40	LF	110.00	4,400.00

\$407,214.00

TOTAL BID FOR PROJECT:\_

CONTRACTOR	The TARA Group of Lumbeton, INC			
ADDRESS	2700 NC Hwy 72 W. Lumberton, NC 283	360		
Federal Identification	n Number56-2049156	Contractor	s License Number_	41562
Authorized Agent	Charles D. Andrews	Title	Vice President	
Signature C	-Don		Date	7/27/2017
Witness Sophi	a H. Brixey	Title	Office Manag	er
Signature Sol	ria H. Briter		Date	7/27/2017
U	' )			
THIS SECTIO	N TO BE COMPLETED BY NORTH CA	ROLINA DEPAR	RTMENT OF TRA	ANSPORTATION
	viewed in accordance with Article 103-1 of the			_
Re	sident Engineer	Dat	e	

### STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION HIGHWAY DIVISION 6

## **PROPOSAL**

DATE AND TIME OF BID OPENING:	JULY 27, 2017 AT 2:00 PM
WBS ELEMENT NO.:	FHWA # 15006.1024080
COUNTY:	COLUMBUS
ROUTE NO.:	NC HIGHWAY 242 CULVERT # 391
LOCATION:	0.2 MILES NORTH OF JUNCTION US 74
CONTRACT AVAILABILITY:	DATE OF PURCHASE ORDER ISSUE
CONTRACT COMPLETION:	NOVEMBER 3, 2017
LIQUIDATED DAMAGES:	\$ 500.00 PER CALENDAR DAY
TYPE OF WORK:	BOX CULVERT REPAIR

#### **NOTICE:**

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK-AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BONDS ARE NOT REQUIRED.

BMCO Construction, Inc.

NAME OF BIDDER

P.O. Box 1361 Lumberton, NC 28359

ADDRESS OF BIDDER

Work Order Number:	15006.1024080
Route:	NC 242 0.2 MILES NORTH OF JUNCTION US 74
County:	Columbus
Contract Availability:	Date of Purchase Order Issue:
Contract Completion:	NOVEMBER 3, 2017
Liquidated Damages:	\$ 500.00 Per Calendar Day

LINE #	ITEM NUMBER	SEC #	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	NOMBER	800	Mobilization	1	LS	\$ 65,275.00	\$ 65,275.00
2		SP	PZ-27 Sheeting, Galvanized, 30 foot length	3000	SF	38.00	114,000.00
3		SP	PZ-27 Sheeting, Galvanized, 10 foot length, for Culvert Scour	520	SF	51.00	26,520.00
4		SP	Concrete Coping 18" x 18" on top of PZ-27	120	LF	80.00	9,600.00
5		1610	#57 Sediment Stone	100	TON	65.00	6,500.00
6		1000-6	Flowable Fill, for Culvert Scou <u>r</u>	12	CY	300.00	3,600.00
7		1000-3	Non-Shrink Grout, for Culvert Scour	2	CY	2,000.00	4,000.00
8		SP	De-Watering Culvert Site for Scour Repair	1	LS	85,000.00	85,000.00
9		SP	42 Inch Vertical Concrete Barrier Wall with reinforcing steel	60	LF	200.00	12,000.00
10		SP	Culvert Head & Wing Wall Extension (to raise existing head wall for new 42" Barrier Wall)	6	CY	1,500.00	9,000.00
11		846	Shoulder Berm Gutter (6 inches extra thick for traffic bearing	120	LF	65.00	7,800.00
12		840	Frame with 2 Grates, STD 840.29 (narrow slot)	4	EA	850.00	3,400.00
13		840	Masonry Drainage Structures	4	EA	1,800.00	7,200.00
14		300	Foundation Conditioning Material, Minor Structures	20	TON	50.00	1,000.00
15		310	15" HPDE Slope Drain Pipe (Double Wall)	80	LF	60.00	4,800.00
16		310	15" HPDE Pipe (Double Wall) Elbows 22.5 degree	8	EA	400.00	3,200.00
17		310	15" HPDE Pipe (Double Wall) Elbows 90 degree	22	EA	1.00	22.00
18		1042	Rip Rap, Class B	50	TON	75.00	3,750.00
19		1660	Sodding	80	SY	15.00	1,200.00

Work Order Number:	15006.1024080
Route:	NC 242 0.2 MILES NORTH OF JUNCTION US 74
County:	Columbus
Contract Availability:	Date of Purchase Order Issue:
Contract Completion:	NOVEMBER 3, 2017
Liquidated Damages:	\$ 500.00 Per Calendar Day

	1						
20		1662	Water for Sod	10	MG	200.00	2,000.00
21		SP	Coir Fiber Wattle	100	LF	20.00	2,000.00
22		1605	Temporary Silt Fence	200	LF	4.00	800.00
23		545	Incidental Stone Base	100	TON	65.00	6,500.00
24		1632	1/4 Inch Hardware Cloth	50	LF	10.00	500.00
25		SP	Asphalt Patching	50	TON	350.00	17,500.00
26		862	Guardrail Anchor Units, Type III	4	EA	2,000.00	8,000.00
27		863	Remove Existing Guardrail	400	LF	3.00	1,200.00
28		862	Steel Beam Guardrail	120	LF	22.00	2,640.00
29		862	Additional Guardrail Posts	5	EA	20.00	100.00
30		862	Guardrail Anchor Units, Type TL-3	3	EA	4,000.00	12,000.00
31		SP	Traffic Control	1	LS	80,000.00	80,000.00
32		1250	Traffic Control Pavement Marking Tape	1000	LF	5.00	5,000.00
33		SP	Sawcutting & Removal of Asphalt and concrete & material for Barrier Wall Construction	1	LS	15,000.00	15,000.00
34		SP	Remove and Replace Portion of Concrete Island (If needed)	1	LS	5,000.00	5,000.00
35			8" Gate Valve for Existing Water Line (IF NEEDED)	1	EA	1,500.00	1,500.00
36			8" Directional Bore Water Line (HPDE or Fusible Water Line (IF NEEDED)	200	LF	90.00	18,000.00
37			45 Degree Elbows 8" (IF NEEDED)	4	EA	800.00	3,200.00
38			8" RJ Ductile Iron Water Line (IF NEEDED)	40	LF	50.00	2,000.00

TOTAL BID FOR PROJECT:

\$550,807.00

	. :				11 11		:
CONTRACTOR_	BMCO Construct	ion, Inc.	<u> </u>				: .
ADDRESS	PO Box 1361 - L	umberton, NO	28359				
Federal Identification	on Number 56-13516	597	<u></u>	_ Contractor	s License Number	18023	
Authorized Agent_	Lee Ann Musselw	hite	1.1 1.1 1	Title	President		
Signature	3200		· · · <u>· · · · · · · · · · · · · · · · </u>		Date_	July 27, 20	)17
Witness_	Michael Musselwl	nite		Title	Vice-Preside	nt	
Signature //	116				Date_	July 27, 20	)17
THIS SECTION	ON TO BE COMPLET	ED BY NORT	H CAROL	INA DEPAL	RTMENT OF TR	RANSPORTA	TION
This bid has been reand Structures.	eviewed in accordance v	vith Article 103	-1 of the cur	rrent edition	of the <b>Standard</b>	Specifications	for Road
Resident Engineer				Dat	te		

## EXECUTION OF BID NON-COLLUSION AFFIDAVIT, DEBARMENT CERTIFICATION AND GIFT BAN CERTIFICATION

#### CORPORATION

The person executing the bid, on behalf of the Bidder, being duly sworn, solemnly swears (or affirms) that neither he, nor any official, agent or employee of the bidder has entered into any agreement, participated in any collusion, or otherwise taken any action which is in restraint of free competitive bidding in connection with any bid or contract, that the bidder has not been convicted of violating N.C.G.S. § 133-24 within the last three years, and that the Bidder intends to do the work with its own bonafide employees or subcontractors and is not bidding for the benefit of another contractor.

In addition, execution of this bid in the proper manner also constitutes the Bidder's certification of status under penalty of perjury under the laws of the United States in accordance with the Debarment Certification attached, provided that the Debarment Certification also includes any required statements concerning exceptions that are applicable.

N.C.G.S. § 133-32 and Executive Order 24 prohibit the offer to, or acceptance by, any State Employee of any gift from anyone with a contract with the State, or from any person seeking to do business with the State. By execution of any response in this procurement, you attest, for your entire organization and its employees or agents, that you are not aware that any such gift has been offered, accepted, or promised by any employees of your organization.

#### SIGNATURE OF CONTRACTOR

	z or communication						
BMCO Construction, Inc.							
Full name of Corporation							
P.O. Box 1361 Lumberton, NC 28359							
Address as Prequalified							
Attest WAS	By Lew						
Secretary/Assistant Secretary	President/ <del>Vice-President/Assistant Vice President</del>						
Select appropriate title	Select appropriate title						
Michael Musselwhite	Lee Ann Musselwhite						
Print or type Signer's name	Print or type Signer's name						
	CORPORATE SEAL						
AFFIDAVIT MUST BE NOTARIZED							
Subscribed and sworn to before me this the	NOTARY SEAL						
27th day of July 20_17	1						
of Robeson County  State of North Carolina	TONYA P. BEAL Notary Public Robeson County, NC My Commission Expires 8 23 200						
My Commission Expires: 08/23/2021							